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T

' Basic++
' Controller:  C-Control | Unit M2.0
! Station2
' Beschreibung: Counts pulses from the Geigerle
! time interval and writes it int
this to happen Port 1 must be g
The time interval is determined
aus dem Wert von INTERVAL
' INTERVAL multiplied with the us
the clock (SECOND, MINUTE, HOUR
' WARNING! Enough pulses must occ
! time units, otherwise the resul
When Port 1 is open, the values
are read out and transferred to

T

OPTION CC2.0

DEFINE ZAHL AS WORD ‘number of p
DEFINE CMP AS BYTE 'time compar
DEFINE LAST AS BYTE 'last time v
DEFINE INTERVAL AS BYTE ‘time interv
DEFINE FCNT AS WORD ‘number of s

DEFINE SCHALTER1 PORTI1] '‘push button

CONFIG.INIT
CONFIG.PUT 00001000b 'set pullups
CONFIG.OFF
IF (SCHALTER1 = OFF) THEN ‘decide if r
'Port 1 = Gn
OPEN FOR WRITE ‘reset file
CLOSE
LCD.INIT 'LCD initial
LCD.CLEAR
LCD.PRINT "WAIT..." ‘wait for th
HOUR =0 ‘initialize
LAST=0
INTERVAL =8 file entry all INTER
‘time unit: HOUR...
ZAHL=0 ‘counter for pulses
FCNT =0 ‘counter for storage
INTERRUPT IMPULS ‘wait for interrupt
DO ‘endless loop, wait f
LOOP
ELSE
PRINT "xxx" ‘start of transmisson
PRINT "START"
PAUSE 50 'safety wait
OPEN FOR READ
LCD.OFF ‘output to terminal
DO 'loop over meas value
FINPUT ZAHL ‘read meas value
PRINT ZAHL ‘write to terminal

LOOP UNTIL EOF = TRUE 'until end of storage

within the given

o the EEPROM. For
rounded.

from the value of

ed time unit of

N

ur within INTERVAL

t will be inaccurate
stored in the EEPROM
the RS232 interface.

ulses

e value

alue

al

torage entries
for mode select

in config register
ead or write

d: write

pointer

isieren

e first result
clock

VAL time units;

entries

or IRQ
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BEEP 20,20,1 ‘end of transmission

END IF
END
#IMPULS ‘the interrupt handle
BEEP 10,3,1 'short beep to indica
CMP = HOUR/INTERVAL 'time compare value,
ZAHL = ZAHL +1 'increment pulse coun
IF CMP <> LAST THEN 'if end of time inter
FCNT=FCNT +1 ‘then increment meas
IF FILEFREE > 5 THEN ‘write only if there
OPEN FOR APPEND ‘append, no overwrite
FPRINT ZAHL ‘write the value
CLOSE
LCD.CLEAR 'new display values
LCD.POS 1,1 first line
LCD.PRINT FCNT ‘output meas value co
LCD.POS 2,1 'second value
LCD.PRINT ZAHL ‘output meas value
ZAHL =0 'reset pulse counter
LAST = CMP 'remember last time ¢
ELSE
LCD.CLEAR

LCD.PRINT "Overflow" ‘error if no storage
END IF
END IF
RETURN INTERRUPT

r
te count
integer division
t

val

value counter
is space

unter

ompare value

anymore
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